## AN EXACT FORMULA FOR AN AVERAGE OF L-SERIES

BY

## Herbert Walum

Let $\chi$ be a character of a prime $p$. As usual,

$$
L(s, \chi)=\sum_{n=1}^{\infty} \frac{\chi(n)}{n^{s}}, \quad \tau(\chi)=\sum_{r=1}^{p} \chi(r) e\left(\frac{r}{p}\right)
$$

where $s$ is a complex variable and $e(z)=e^{2 \pi i z}$.
The average in question is

$$
\begin{equation*}
\sum_{\chi(-1)=-1}|L(1, \chi)|^{2}=\frac{(p-1)^{2}(p-2)}{12 p^{2}} \pi^{2} \tag{1}
\end{equation*}
$$

Chowla [1] gave the asymptotic value $\left(\pi^{2} p\right) / 12$ for the left hand side of (1) and noted that the asymptotic form of (1) was implicit in the work of Paley [2] and Selberg [3].

If $F(t)$ is the fractional part of $t$ minus $1 / 2$ and $e(t)=e^{2 \pi i t}$, then

$$
\begin{equation*}
F(t)=-\frac{1}{2 \pi i} \sum_{n} \frac{e(n t)}{n} \tag{2}
\end{equation*}
$$

where $n$ runs over all non zero integers. Let $\psi$ be a non-principal character $\bmod p$. From (2),

$$
\sum_{r=1}^{p-1} \psi(r) F\left(\frac{r}{p}\right)=-\frac{1}{2 \pi i} \sum_{n} \frac{1}{n} \sum_{r=1}^{p-1} \psi(r) e\left(\frac{r n}{p}\right) .
$$

Since

$$
\sum_{r=1}^{p-1} \psi(r) e\left(\frac{r n}{p}\right)=\tau(\psi) \psi(n)
$$

we have

$$
\sum_{r=1}^{p-1} \Psi(r) F\left(\frac{r}{p}\right)=-\frac{\tau(\psi)}{2 \pi i} \begin{cases}2 L(1, \psi) & \text { if } \psi(-1)=-1  \tag{3}\\ 0 & \text { if } \psi(-1)=1\end{cases}
$$

even when $\psi$ is principal, as an easy computation shows. Thus,

$$
\sum_{r, t=1}^{p-1} F\left(\frac{r}{p}\right) F\left(\frac{t}{p}\right) \psi(r) \psi(t)= \begin{cases}\frac{p}{\pi^{2}}|L(1, \psi)|^{2} & \text { if } \psi(-1)=-1 \\ 0 & \text { if } \psi(-1)=1\end{cases}
$$

[^0]Summing over all characters, $\psi$,

$$
(p-1) \sum_{r=1}^{p-1}\left(F\left(\frac{r}{p}\right)\right)^{2}=\sum_{r, t=1}^{p-1} F\left(\frac{r}{p}\right) F\left(\frac{t}{p}\right) \sum_{\psi} \bar{\psi}(r) \psi(r)=\frac{p}{\pi^{2}} \sum_{\psi(-1)=-1}|L(1, \psi)|^{2}
$$

This last equation is true since $\sum_{\psi} \psi(r) \psi(t)$ is 0 for $r \not \equiv t$ or $r \equiv t \equiv 0$ and $p-1$ for $r \equiv t \not \equiv 0$. Thus

$$
\sum_{\psi(-1)=-1}|L(1, \psi)|^{2}=\pi^{2} \frac{(p-1)}{p} \sum_{r=1}^{p-1}\left(F\left(\frac{r}{p}\right)\right)^{2}
$$

Now

$$
\sum_{r=1}^{p-1}\left(F\left(\frac{r}{p}\right)\right)^{2}=\sum_{r=1}^{p-1}\left(\frac{r}{p}-\frac{1}{2}\right)^{2}=\frac{(p-1)(p-2)}{12 p}
$$

and from this we obtain our average.
By an extension of the above argument, it is possible to prove that

$$
\begin{equation*}
\sum_{\psi(-1)=-1}|L(1, \psi)|^{2 k} \tag{4}
\end{equation*}
$$

is a rational multiple of $\pi^{2 k}$.
However, the only value of $k$ for which the sum (4) seems to have a simple formula is $k=1$ in (1). In fact for values of $k>1$ it is not even clear that (4) has an asymptotic formula. For example, if $k=2$, formula (3) gives

$$
\begin{aligned}
\frac{p^{2}}{\pi^{4}} \sum_{\psi(-1)=-1}|L(1, \psi)|^{4} & =\sum_{\psi} \sum_{r, s, t, u=1}^{p-1} F\left(\frac{r}{p}\right) F\left(\frac{s}{p}\right) F\left(\frac{t}{p}\right) F\left(\frac{u}{p}\right) \psi(r t) \psi(s u) \\
& =(p-1) \sum_{\substack{r, s, t, u \bmod p, r t \equiv s u}} F\left(\frac{r}{p}\right) F\left(\frac{s}{p}\right) F\left(\frac{t}{p}\right) F\left(\frac{u}{p}\right)
\end{aligned}
$$

In this last sum replace $t$ by $t s$ (this can be done by a suitable rearrangement of the sum: make $t$ be the last variable of summation in an iterated form of the sum) to obtain

$$
\begin{aligned}
\sum_{\psi(-1)=-1}|L(1, \psi)|^{4} & =\frac{\pi^{4}(p-1)}{p^{2}} \sum_{r, s, t, u \bmod p,} F\left(\frac{r}{p}\right) F\left(\frac{s}{p}\right) F\left(\frac{t s}{p}\right) F\left(\frac{u}{p}\right) \\
& =\frac{\pi^{4}(p-1)}{p^{2}} \sum_{r, s, t \bmod p} F\left(\frac{r}{p}\right) F\left(\frac{s}{p}\right) F\left(\frac{t r}{p}\right) F\left(\frac{t r}{p}\right) \\
& =\frac{\pi^{4}(p-1)}{p^{2}} \sum_{t \bmod p}\left(\sum _ { r \operatorname { m o d } p } F ( \frac { r } { p } ) F ( \frac { r t } { p } ) \left(\sum_{s \bmod p} F\left(\frac{s}{p}\right) F\left(\frac{t s}{p}\right)\right.\right. \\
& =\frac{\pi \psi(p-1)}{p^{2}} \sum_{t \bmod p}(s(t, p))^{2}
\end{aligned}
$$

where $s(t, p)$ is the Dedekind sum

$$
s(t, p)=\sum_{n=1}^{p-1} F\left(\frac{n}{p}\right) F\left(\frac{n t}{p}\right) .
$$

The average

$$
\begin{equation*}
\sum_{t \bmod p}(s(t, p))^{2} \tag{5}
\end{equation*}
$$

when computed for primes below 400 seems to have an oscillatory sort of behavior. Thus it appears that the average (4) may not have an exact formula of the same sort as in (1), and perhaps not even an asymptotic value. Further information about the growth of (4) appears to be hard to obtain.

## References

1. N. C. Ankeny and S. Chowla, The class number of the cyclotomic field, Canadian Math., vol. III (1951), pp. 486-494.
2. R. E. A. C. Paley, On the $k$-analogues of some theorems in the theory of the Riemann $\xi$-function, Proc. London Math. (2), vol. 32 91931), pp. 273-311.
3. A. Selberg, Contributions to the theory of Dirichlet's L-functions, Skr. Norske Vid.-Akad. Oslo I, 1946.

The Ohio State University
Columbus, Ohio


[^0]:    Received January 2, 1980.

